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	Set 1
	Set 2
	Set 3
	Set 4
	Set 5
	Set 6
	Set 7
	Set 8
	Set 9
	Set 10

	1
	four rules of number
	
	
	
	
	
	
	
	
	
	

	2
	solving equations
	
	
	
	
	
	
	
	
	
	

	3
	angles
	
	
	
	
	
	
	
	
	
	

	4
	+, - and x and ÷ fractions
	
	
	
	
	
	
	
	
	
	

	5
	Rearranging a formula
	
	
	
	
	
	
	
	
	
	

	6
	transformations
	
	
	
	
	
	
	
	
	
	

	7
	Factorising and expanding brackets
	
	
	
	
	
	
	
	
	
	

	8
	proportion
	
	
	
	
	
	
	
	
	
	

	9
	calculating the mean from a table
	
	
	
	
	
	
	
	
	
	

	10
	Calculating with percentages
	
	
	
	
	
	
	
	
	
	


	Revision Set 1

	1
	multiply 24 by 45
	

	2
	solve: 2(x + 5) = 16
	

	3
	[image: image1.png]



	a = 

	4
	Work out the value of  
[image: image2.wmf]4

3

2

 add 
[image: image3.wmf]5

4

3


	

	5
	Make x the subject of y  = 2x + 7
	

	6
	draw the image after the shape has been rotate 180° about X
	[image: image36.png]





	7
	Expand the brackets (x + 8)(3x - 2)
	

	8
	share 400g in the ratio of 2 : 3
	

	9
	x

5

6

7

8

frequency

12

9

0

13


	find the mean

	10
	Before a sale with 30% off, a shirt costs £21. How much did it cost in the sale?
	


	Revision Set 2

	1
	divide 613 by 59 
	

	2
	solve: 2x – 3 = 4
              5
	

	3
	[image: image4.png]



	b =

	4
	Work out 
[image: image5.wmf]5

4

6

  subtract  
[image: image6.wmf]4

2

3


	

	5
	Make x the subject of y = 3x - 7
	

	6
	draw the image of the shape after it has been rotated 90° clockwise around (0, 0)


	[image: image37.png]





	7
	Factorise this quadratic 

            x2 + 5x + 6
	

	8
	share 280kg in the ratio of 2 : 5
	

	9
	x

43

44

45

46

frequency

8

6

17

15


	find the mean

	10
	Before a sale with 25% off, a shirt costs £18. How much did it cost in the sale?
	


	Revision Set 3

	1
	multiply 234 by 38
	

	2
	solve: 2x + 3 = x + 5
	

	3
	[image: image7.png]65°




	c = 

d =

	4
	Work out the value of  
[image: image8.wmf]3

2

1

  times  
[image: image9.wmf]5

3

2


	

	5
	Make x the subject of y = 2x + 5
	

	6
	reflect the rectangle in the x axis


	

	7
	Expand the brackets (x + 2)(2x – 3)
	

	8
	rewrite 5 : 8 in the form 1 : n
	

	9
	x

1

2

3

4

frequency

3

4

8

11


	find the mean

	10
	An item costing £28 increases in value by 15%, how much does it now cost?
	


	Revision Set 4

	1
	divide 3.6 by 0.2
	

	2
	solve:  f + 2 = 8
           5
	

	3
	[image: image10.png]



	b = 

	4
	Work out the sum of  
[image: image11.wmf]5

4

2

  times  
[image: image12.wmf]6

1

3


	

	5
	Make x the subject of y = 5x + 6
	

	6
	
	reflect in the line x = 2



	7
	Factorise this quadratic x2 - 5x + 6
	

	8
	Which is better value for money?

125g tin at 16p or 600g tin at 59p
	

	9
	x

7

8

9

10

frequency

12

9

0

13


	find the mean

	10
	A tv costs £212 excluding VAT. How much does the tv cost including VAT?
	

	Revision Set 5

	1
	multiply 12  by 24
	

	2
	solve: 2(3x + 11) = 10
	

	3
	[image: image13.png]



	x = 

	4
	Work out the difference between  
[image: image14.wmf]3

1

4

  and  
[image: image15.wmf]4

3

1


	

	5
	Make x the subject of y = x2 + 5
	

	6
	

	reflect in the line y = -1

	7
	Expand the brackets (4x + 2)(x + 3)
	

	8
	Which is better value for money?

750g tin at £1.64 or 500g tin at £1.10
	

	9
	x

0

1

2

3

frequency

4

5

7

2


	find the mean

	10
	An item costing £240 increases by 25%, how much does it now cost?
	

	Revision Set 6

	1
	divide 984 by 24
	

	2
	solve: 8s – 1 = 6s - 5
	

	3
	[image: image16.png]




	x = 

	4
	Work out the value of  
[image: image17.wmf]5

4

2

  divided by  
[image: image18.wmf]2

1

3


	

	5
	Make x the subject of y = 3x + b
	

	6
	

	rotate the shape 180o clockwise about (3, 3)



	7
	Factorise this quadratic 

            x2 + 10x + 24
	

	8
	The interior angles of a triangle are in the ratio of 2 : 3 : 4. What is the size of the smallest angle?
	

	9
	x

0-2

2-4

4-6

6-8

frequency

4

6

3

2


	find an estimate of the mean

	10
	An item costing £25 decreases its value by 10%. How much does it now cost? 
	


	Revision Set 7

	1
	calculate 24 squared
	

	2
	solve: 2(d + 3) = d + 12
	

	3
	[image: image19.png]



	b = 

c = 

d =

	4
	Work out the value of  
[image: image20.wmf]4

1

2

 plus 
[image: image21.wmf]3

1

1


	

	5
	Make x the subject of y = 2x + 5

                                          3
	

	6
	

	Enlarge the rectangle by a scale factor of 1/3 about the origin (0, 0)



	7
	Expand the brackets (2 + x)(3x + 4)
	

	8
	Rose uses cheese, topping and dough in the ratio of 2 : 3 : 5. Rose uses 70g of dough. Hoe many grams of cheese and topping will she need?
	cheese =
topping =

	9
	x

50-60

60-70

70-80

80-90

frequency

15

23

28

17


	find an estimate of the mean

	10
	An item costing £320 increases its value by 20%. How much does it now cost?
	

	Revision Set 8

	1
	multiply £2.75 by 13
	

	2
	solve: 3(2y + 3) = 5(2y + 1)
	

	3
	[image: image22.png]7

]




	x = 

	4
	Work out the value of  
[image: image23.wmf]5

4

2

  subtract  
[image: image24.wmf]2

1

3


	

	5
	Make x the subject of y = 3x + b
	

	6
	
	reflect in the line y = -x



	7
	Factorise this quadratic 

            x2 + 10x + 24
	

	8
	share £34800 in the ratio of 1 : 5
	

	9
	x

0-20

20-40

40-60

60-80

frequency

4

9

13

8


	find an estimate of the mean

	10
	An item costing £28 increases its value by 15%. How much does it now cost?
	

	Revision Set 9

	1
	divide 7.56 by 0.4
	

	2
	solve: 6K + 5 = 2k + 1
	

	3
	calculate the interior angle in a regular octagon
	

	4
	Work out the value of  
[image: image25.wmf]4

1

2

 times 
[image: image26.wmf]3

1

1


	

	5
	Make x the subject of y = 2x + 5
                                          3
	

	6
	

	Describe fully the single transformation that maps shape P onto shape Q.



	7
	Expand the brackets (2 + x)(3x + 4)
	

	8
	The recipe for a pudding is 125g of sugar, 150g of flour, 100g of margarine and 175g of fruit. What fraction of the pudding is each ingredient?
	

	9
	x

0-5

5-10

10-15

15-20

frequency

3

8

5

11


	find an estimate of the mean



	10
	An item costing £32 decreases its value by 35%. How much does it now cost?
	


	Revision Set 10

	1
	multiply £8.34 by 25
	

	2
	solve: 3(h – 5) = 2(5 – 2h)
	

	3
	calculate the interior and exterior angle in a regular decagon
	interior = 

exterior = 

	4
	Work out the value of  
[image: image27.wmf]5

4

2

  divided by  
[image: image28.wmf]2

1

3


	

	5
	Make x the subject of y = 3x + b
	

	6
	
	Describe fully the single transformation that maps shape A onto shape B.



	7
	Expand the brackets (2x - 3)(2x – 1)
	

	8
	rewrite 4 hours : 1 week in the ratio of 1:n
	

	9
	x

0-2

2-4

4-6

6-8

frequency

12

26

34

23


	find an estimate of the mean



	10
	An item costing £28 increases its value by 17½%. How much does it now cost?
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